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QUESTION 1

DRAG DROP

You create three tables by running the following Transact-SQL statements:

CRERTE TABLE tblRoles (
Roleld int NOT NULL IDENTITY(1,1) PRIMARY KEY CLUSTERED,

RoleMName wvarchar(20) NOT NULL @ﬁ)

)
CRERTE TABLE tblUsers ( @§>0
UserId int NOT NULL IDENTIT :

)

CREATE TABLE tblUsersl s
Userld int NOT FOREIGN KEY REFERENCES tblUsers(Userld),
Roleld int NOT FOREIGN KEY REFERENCES tblRoles(Rolesld)

For reporting purposes, you need to find the active user count for each role, and the total active user count. The result
must be ordered by active user count of each role. You must use common table expressions (CTEs). Which four
Transact-SQL segments should you use to develop the solution? To answer, move the appropriate Transact-SQL
segments from the list of Transact-SQL segments to the answer area and arrange them in the correct order.

Select and Place:



Transact-SQL segments

‘Total RS |
FELECT SO (") A2 TeialfuvenwluBliiPvlces
FROM RctiveUsers

1]

ISELECT 2.*, Tocal.TotalCcantInAlIROles
FROM RoleSummary 5, lotal

ORDER BY 5.ActiveUserCount

WITH Activelisers AS |
SELECT DaarTd
RO thlU=ers
WEERE Ialctives]l

b

RoleNCount AS |

SELECT RoleId, COUNT(*) AS ActiveDasr-
Count

FROM tblUsersInRoles BRG

LESNSH JULH ACTAIVEUSEZS U UN B, JSET.d =
U.Userld

GROUD BY BRG.Rolmld
1o

Total AS |

SELECT COUNT(*) AS TotalCouncImAllRol
FROM RctivelUsera

1
{SELECT 5.%, Total.TotalCountInAl 0
FROM ByleSummary 5, lotal

¢

Rolefummary AS |
SELECT R.RolsName, I

(3. hctiveDasrCouns, 0) rCounc
FROM thbliRoles B
LEFT JOIN Ro. CH E.Roleld =

5.Roleld
DADER BY erCount
|

‘RoleSusmary AS |
SELECT B.RolaMame, ISHULL
(5. hctiveUserCount, 0) AS ActiveUserCount

FROM tblRcles R
LEfT FOIN Nelwdfount & 20 R.Delald —
5.Roleld

.}*.

Correct Answer:

Answer Area



Transact-SQL segments

Total RS |
FELECT SO (") A2 TeialfuvenwluBliiPvlces
FROM RctiveUsers

1

BELECT S5.*, Total.TotalCountInRlIRoles

FROM RoleSummary 5, lotal

CRDER BY 5,ActiveUserCount

WITH Activelsers AS |
SELECT DaarTd
RO thlU=ers
WEERE Ialctives]l

b

RoleNCount AS |

SELECT RoleId, COUNT(*) AS ActiveDasr-
Counc

FROM tblUsersInRoles BRG

LESNSH JULH ACTAIVEUSEZS U UN B, JSET.d =
U.Userld

GROUD BY BRG.Rolmld
1o

Total AS |

SELECT COUNT(*) AS TotalCouncImAllRol
FROM RctivelUsera

1

SELECT 5.*%, Total.TotalCountInAl 0

FROM ByleSummary 5, lotal

Rolefummary AS |
SELECT R.RoleName, o

(3. hccivelsexCouns, O}
FROM thlBcles R
LEFT JOIN Rol

8.Roleld
ORDER BY

15
erCount

CH E.Roleld =

1y

‘RoleSummary AS |
SELECT B.RolaMame, ISHULL
(5. hctiveUserCount, 0) AS ActiveUserCount

FROM tblRcles R
LEfT FOIN Nelwdfount & 20 R.Delald —
5.Roleld

Ve

Answer Area

PBeislcsuns A |

SELEGT RoleId,
counc

FEGH tbhlUsersInRoles BREG

IHNZR JOIN RooiveTsers U O ERG.Toerld =
O0.UserTd

EREQUP BY BRG.Rolsld

COUNT(*] AS ActiveUoes-

.FF

WiIH Retivelsera 25
SELECT Usezid b
TR0 thilaske o
WHERE 1

)

)

cLECT R.BoleXame, [SHULL
tivelssrCouns, 0} AS AcrivellssrCount
FEOM tbiRoies B

LEFT JOIN BelebCount 3 ON P.Releld =
g leleld

GRDER BY S.AcctiveUserCount
b

Total RS |
SELECY COURT(*) A5 TotaliouncindlliRolca
FROH Rctivelsera

]

SEIECT 5.*, Tocal. .TotalCoontTnhllRoles

FROM BoleSummary 5, lotal

CRDER BY S_ActivelUserCoust

QUESTION 2

DRAG DROP

You need to create a stored procedure to update a table named Sales.Customers. The structure of the table is shown in

the exhibit. (Click the exhibit button.)



=l m Sales.Customers

=] [l Columns
custid (PK, int, not null)

companyname (nvarchar ot null)

contactname (nvar ' 0), not null)

L 4
1
1
7 contacttitle {n@@artanj, not null)
r
&l

addres @cﬁar{ﬁﬂ}, not null)
)

'] country (nvarchar(15), not null)
721 phone (nvarchar(24), not null)
1] fax (nvarchar(24), null)

The stored procedure must meet the following requirements:
Accept two input parameters.

Update the company name if the customer exists.

Return a custom error message if the customer does not exist.

Which five Transact-SQL segments should you use to develop the solution? To answer, move the appropriate Transact-
SQL segments from the list of Transact-SQL segments to the answer area and arrange them in the correct order.

NOTE: More than one order of answer choices is correct. You will receive credit for any of the correct orders you select.

Select and Place:



Transact-SQL segments

CREATE PROCEDURE  Sales.ModCompanyMame
fcustID int, @newname nvarchar(40) AS

IF HOT EXISTS (SELECT custid FROM
Sales.Customers WHERE custid = BcustID)

UPDATE S5ales.Custoners

SET companyname = fnewname

WHERE custid = @custID

BEGIN THEOW 55555, 'The customer ID
does not exist’, 1 END

UFDATE S5ales.Customers
SET companyname = #custID

g@
WHERE custid = Enewname &

IF EXTISTS (SELECT custid FROM
Sales.Cuscomers
WHEBE custid = BcustID)

ROLBACK TRANSACTION

Correct Answer:

Transact-SQL segments

UPDATE Sales.Custoners

SET companyname = #custID

g@
WHERE custid = Enewname &

ROLBACK TRANSACTIOHN

Answer Area

Answer Area

CREATE PROCEDURE Sales.ModCompaniyHame
fcustID int, &n me nvarchar(40) AS

IF-EXTSTS
Sales.q

© WHERE
i Sales.Custon=rsa

Companvnams = f(newname
RE custid = [@custID

@i@CT custid FROM
t rs
Bd = RocustID)

IF WOT EXTSTS (SELECT custid FROK

@

BEGIN THROW 55555; "The customer ID
does not exist'; 1 END

Sales.Cuscomers WHERE custid = BcuscID)

©O

®
©

QUESTION 3

You are developing a mobile app to manage meetups. The app allows for users to view the 25 closest people with
similar interests. You have a table that contains records for approximately two million people. You create the table by

running the following Transact-SQL statement:



CREATE TABLE Person
PersonID INT,
Name N*JERCH%@?%LSSJ NOT NULL,
Location J SRAFHY,
Interegt® NVARCHAR (MAX)

)

You create the following table valued function to generate lists of people:

CREATE FUNCTION dbo.nearby (@person AS INT)
RETURNS @Res TEBLE ( &

2

PersonId INT NOT HULL@?
AT

Location GECJGRHPHYF@%L;'

-

) o
As o
BEGIN .
I
- =
END

You need to build a report that shows meetings with at least two people only. What should you use?
A. OUTER APPLY

B. CROSS APPLY

C. PIVOT

D. LEFT OUTER JOIN

Correct Answer: B

References: https://www.sqlshack.com/the-difference-between-cross-apply-and-outer-apply-in-sql-server/

QUESTION 4

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while

others might not have a correct solution.

After you answer a question in this section. You will NOT be able to return to it. As a result, these questions will not
appear in the review screen.

You create a table named Products by running the following Transact-SQL statement:



CREATE TABLE Products ( .
ProductID int IDENTITY (1, 1), NO{'E@LL PRIMARY KEY,

ProductName nvarchar ( 100) LL,
UnitPrice decimal (18, 2%; NULL,
UnitsinStock int NDT
UnitsOnOrder in §
3
You have the following stored procedure:
CREATE PROCEDURE InsertProduct
@ProductName nvarchar(100), @
tPrice deci ©
@UnitPrice decimal (18, 2), . &
@UnitsInStock int, @G}‘“
@UnitsOnOrder int F§V®
e ]
AS @,ﬂ
BEGIN @@f

INSERT INTO Products (Pr ‘tName, UnitPrice, UnitsinStock, UnitsOnQrder)
VALUES (@ProductNamie, @UnitPrice, @UnitsIinStock, @UnitsOnOrder)
END

You need to modify the stored procedure to meet the following new requirements:

Insert product records as a single unit of work.

Return error number 51000 when a product fails to insert into the database.

If a product record insert operation fails, the product information must not be permanently written to the database.

Solution: You run the following Transact-SQL statement:



ALTER PROCEDURE InsertProduct
@ProductName nvarchar (100},

@UnitPrice decimal (18, 2),

@UnitsinStock int, @
@UnitsOnOrder int @@

AS

BEGIN ®G
e

BEGIN TRY
BEGIN TRANSACTION &v
INSERT INTO Products (Prod e, UnitPrice, UnitsinStock, UnitsOnOrder)
VALUES (@ProductNa Price, @UnitsInStock, @UnitsOnOrder)
COMMIT TRAN SACTIO@
END TRY
BEGIN CATCH
IF @ @TRA > OROLLBACK TRANSACTION
RAISERROR (51000,16, 1)
END CATCH
END

Does the solution meet the goal?
A. Yes
B. No

Correct Answer: B

QUESTION 5

You need to create a database object that meets the following requirements:

accepts a product identifies as input

calculates the total quantity of a specific product, including quantity on hand and quantity on order
caches and reuses execution plan

returns a value

can be called from within a SELECT statement



can be used in a JOIN clause

What should you create?

A. an extended stored procedure

B. a user-defined table-valued function

C. a user-defined stored procedure that has an OUTPUT parameter
D. a memory-optimized table that has updated statistics

Correct Answer: B

References: https://www.techrepublic.com/blog/the-enterprise-cloud/understand-when-to-use-user-defined-functions-in-
sql-server/

QUESTION 6
HOTSPOT
You have a database that contains the following tables: tbIRoles, tblUsers, and tblUsersInRoles.

The table tblRoles is defined as follows.

RolelD | int #| No Yes
RoleName varchar(20) | No No

You have a function named ufnGetRoleActiveUsers that was created by running the following Transact-SQL statement:

CREATE FUNCTION ufnGetFoleActiveUsers (@RoleId AS int)
RETURNS (@roleSummary TABLE (UserName varchar (20))
LS
BEGIN °
INSERT INTO (@roleSummary ayfe
SELECT U.UserName FROM t© sersInRoles BEG
INNEE JOIN tblUsers U
ON U.UserlId = BRG.U Id
WHERE BRG.RoleId = wleld AND U.IsAclive = 1
RETURN
END

You need to list all roles and their corresponding active users. The query must return the Roleld, RoleName, and
UserName columns. If a role has no active users, a NULL value should be returned as the UserName for that role. How
should you complete the Transact-SQL statement? To answer, select the appropriate Transact-SQL segments in the
answer area.



Hot Area:

Answer area

SELECL * &
r".’:lﬂ\..\\.\?l
s 7 J"}I._.z'
“ROM f@c "
‘thiRoles ol
thiUsersinRoles [y
tlUsers " o
_
QY
A«\c}%&b ¥ | ufnGetRoleActiveUsers( v)
CROSS JOIN % | Raleld |
OUTER APPLY Userld
CROSS APPLY RoleName
Correct Answer:
Answer area
SELECL * &
r".’:lﬂ\..\\.\?l
.j}l.._..)'
“ROM =y
thiRoles - @Y |
tiUsersinRoles iy
tblUsers " o
2B
Q@
A@S‘) ¥ | ufnGeRoleActiveUsers( v)
CROSS JOIN  _of° | Raleld |
OUTER APPLY Userld
CROSS APPLY RoleName

QUESTION 7

You have a database that stores information about server and application errors. The database contains the following
table: Servers

Column Data type .Gﬁ.q-"-"‘\ Notes
ServerlD int This is:_:;__gg}farimar!,r key for the table.
DN5 Nwarchar{100) Null#alues are not permitted for this column.

Errors



Column Data type Motes

i
ErroriD int This is the primary k@r the table.
ServerlD int MNull values are ermitted for this column. This column is

e
a foreign keywthat is related for the ssxverID column in the

Serve le.
Occurrences | int Nuytﬁ{]es are not permitted for this column.

Loghessage | nvarchar(max) Null values are not permitted for this column.

You need to return all unique error log messages and the server where the error occurs most often. Which Transact-
SQL statement should you run?

SELECT DISTINCT Serverlly, LogMea=zage FROM Errors AT el

WHERE LogMessage IN |
SELECT TOP 1 ei.LogMessage FROM Errors A5 el
WHERE el.LcogMessage = el.LogMessage AND el.ServerlD <> el.ServerID
CRIDER BY ei.0ccurrences

{,_f,’-'\
! N
' SELECT DISTINMCT ServerID, LogMea=zage FROM Errors A ‘:/gj'"
WHERE LogMeszage IN |
SELECT TGP 1 eZ.LogMessage FROM Errom
WHERE el.LogMessage = el.LogMessage (3>E2.Seru’erli‘l <> el.ServerID
ORDER BY eZ.0Occurrences @J >

; r'*fv
| H‘-u' -
R

(A

g

o

SELECT DISTINCT ServeriD, Lo ?‘é{_%}e FROM Errors AS el
WHERE Occurrences > ALL ( = v
SELECT el.LogMe M Errors AS el
WHERE e2.Logh ﬁge el.LogMessage AND el .ServerlID <> el.SerwerlD
) 0
ol ¢
C. SELECT DISTIHC ‘thLI", LogMessage FROM Errors AS el
GROUE BY Ser } LogMesaage
HAVING m{;&(‘n&u rences) = 1
0. e
SELECT SerwerID, LogMessage FROM Errors AS el
GROUP BY ServerlID, LogMessage, Occurrences
HAVING COUNT {*) = 1
ORDER BY Cccourrences
A.B.C.D.

Correct Answer: A

QUESTION 8



Note: This question is part of a series of questions that use the same or similar answer choices. An answer choice may
be correct for more than one question in the series. Each question is independent of the other questions in this series.
Information and details provided in a question apply to that question.

You have a database for a banking system. The database has two tables named thIDepositAcct and thlLoanAcct that
store deposit and loan accounts, respectively. Both tables contain the following columns:

CustNo int ‘No | This column uniquely identifies a

omer in the bank. A customer
@g may have both deposit and loan
® accounts.

AcctNo int Yes @%ﬁ\y This column uniquely identifies a

i customer in the bank.

ProdCode varchar(3) No g P This column identifies the product
type of an account. A customer may
< have multiple accounts for the same
product type.

You need to run a query to find the total number of customers who have both deposit and loan accounts. Which
Transact-SQL statement should you run?

SELECT COUNT (*)
FROM (SELECT




SELECT COUMNT (*)

FECM (SELECT AcctNo
FROM tblDepositicct
INTEER
SECTSELECT Acct
NoFROM thlLoanazct) R

SELECT COUNT (*)

FECM (SELECT CustNo
FEOM tblDeposithcct
UNTOMN
SELECT CustNo
FROM thlLocandcct) R

SELECT COUNT (*)
FECM (SELECT CustNo <§§§b
FEOM tblDepositlcct (:)

UNION ALL @Q

SELECT CustNo

FROM thlLoanfcct) R <é$i>
SELECT COUNT (DISTINCT o)

FRCM tblDepositAcctD ocanicct L
WHERE D.CustNo = L@ No

SELECT COUNT (D L.CustNo)
FRCM tblDepg cEE D
RIGHT JO ?Le:-ana-:ct L ON D.CustNo = L.CustNo
WHERE :4\, No IS NULL

SELE u&; BUNT (*)

FECM (SELECT CustMo
FROM tblDepositAcct
EXCEPT
SELECT CustNo
FRCM tbhlLoanicct) R

SELECT COUNT (DISTINCT COALESCE (D.CustNo, L.CustNo})
FECM tblDepositAcct D
FULL JOIN tblloanfcct L ON D.CustNo = L.CustNo
WHEERE D.CustNo IS NULL OR L.CustMoc IS5 NULL

SELECT COUNT (*)
FRCOM tblDepositRcct D
FULL JOIN thlLoanfcct L ON D.CustNo = L.CustNo



A.B.C.D.E.F.G. H.

Correct Answer: A

The SQL INTERSECT operator is used to return the results of 2 or more SELECT statements. However, it only returns
the rows selected by all queries or data sets. If a record exists in one query and not in the other, it will be omitted from
the INTERSECT results.

References: https://www.techonthenet.com/sqgl/intersect.php

QUESTION 9

Note: This question is part of a series of questions that present the same scenario. Each question in the series contains
a unique solution that might meet the stated goals. Some question sets might have more than one correct solution,
while

others might not have a correct solution.

After you answer a question in this section. You will NOT be able to return to it. As a result, these questions will not
appear in the review screen.

You have a database that contains a single table named tblVehicleRegistration. The table is defined as follows:

Column name Data type Description
VehiclelId int Ll;gﬁm key for the table
RegistrationNumber | varchar(5) ¢é§”{'ehic le registration number that contains only
ﬁﬂﬁ letters and numbers
RegistrationDate date &% | the vehicle registration date
UserId int L an 1dentifier for the vehicle owner

You run the following query:

SELECT UserId FRCM tblyjehicleRegistration
WHERE Registraticnﬂ%ﬁer = 2001z
LND Regiatratiannafﬁé > "Z2016-01-01°

The query output window displays the following error message: "Conversion failed when converting the varchar value
"ABO12\\' to data type int." You need to resolve the error. Solution: You modify the Transact-SQL statement as follows:

SELECT UserId FROM tblVehicleBReciggraticn
e d
WHERE BRegistrationNumber = EDD{W
LND RegistrationDats = CDNRTEF&"%DPLTE, "201le-01-01", 120}

Does the solution meet the goal?
A. Yes

B. No



Correct Answer: B

QUESTION 10

DRAG DROP

Note: This question is part of a series of questions that use the same scenario. For your convenience, the scenario is

repeated in each question. Each question presents a different goal and answer choices, but the text of the scenario is

exactly the same in each question on this series.

You have a database that tracks orders and deliveries for customers in North America. System versioning is enabled for

all tables. The database contains the Sales.Customers, Application.Cities, and Sales.CustomerCategories tables.

Details for the Sales.Customers table are shown in the following table:

Column Data type Notes
Customerld int primary key
CustomerCategoryld int Soremn ey t{}thE .

Sales.CustgimerCategories table

PostalCitylD int foreign kej to the Application.Cities table
DeliveryCitylD int fD;’g@ﬁ-Eév to the Application.Cities table
AccountOpenedDate datetime i;f-i-x'iés"hot allow values
StandardDiscountPercentage | int “Moes not allow values

CreditLimit decimal({18,2} | null values are permitted
IsCnCreditHold bit o6 does not allow values
DeliverylLocation gepetaphy does not allow values
PhoneMumber ¢ ﬁwrﬁ'har{EDj does not allow values

e does not allow values, GENERATED
ValidF : datetime2(7 g

shdrrem atetime2(7) | Al wAYS AS ROW START

ks datetime2(7) does not allow values, GENERATED

ALWAYS AS ROW END

Details for the Application.Cities table are shown in the following table:

Column Data type ,&w Notes
CitylD int ¥ | prirvary key
LatestRecordedPopulation bigint null values are permitted

Details for the Sales.CustomerCategories table are shown in the following table:

Column

CustomerCategorylD

int

Data type

z\w Notes

primary key

CustomerCategoryName

nvarcha r{Eer

does not allow null values




The marketing department is performing an analysis of how discount affect credit limits. They need to know the average
credit limit per standard discount percentage for customers whose standard discount percentage is between zero and

four.
You need to create a query that returns the data for the analysis.

How should you complete the Transact-SQL statement? To answer, drag the appropriate Transact-SQL segments to
the correct locations. Each Transact-SQL segments may be used once, more than once, or not at all. You may need to

drag the split bar between panes or scroll to view content.

Select and Place:

Transact-SQL segments Answer Area

0,1 2z, 3, 4 SELECT Transact-S0Q1 segment J\B

(0...4) ERCHE | "\d‘\
SELECT )

‘ /
StandardDisco .J.ntEe/I-cEx;'\?a;
BETWZEN 0 AND 4
Transact- @\ ment

PIVOT = T BN
® FROM Salei};j{; omErs

I ] } AS Source e
GROUP BY M /gjf@ "

: \géact SQL segment
[CreditLimit] ’?c—g{?

[rﬁ"v
Na} AVG (CreditLimit)

HiEcEesin Lm0 - FOR StandardDiscountPercentage IN | Transact-SQL segment

} AS CreditLimitTakle

Correct Answer:

Transact-SQL segments Answer Area

0 1 2; 3 4 sarppe | Ue s e 3 8 3
) ©

(0...4) FEO | -0°
SELECT . &

S_ancarlescnJntE'e;cEg;m?aj_,
BETWZEN 0 &ND 4 -

[CreditLimit Q‘\ ?\d‘

FIVOT = RN
® FROM Sale@ﬁ) OmErs
| @ ) &S Sourc%é-? =
GROUE BY ® i
©OC
PIVOT 4 %6
) o”
[CreditLimit] 20"
M;:'*‘}v
S T "\\k} AVG (CreditLimit)
PRI v FOR StandardDiscountPercentage IN ([0, 1, 2, 3, 4

} AS CreditLimitTabkle

Box1:0,1,2,3,4
Pivot example:

-- Pivot table with one rowand five columns



SELECT \VAverageCost\\' AS Cost_Sorted_By_Production_Days,
0], [1], [2], [3], [4]

FROM

(SELECT DaysToManufacture, StandardCost
FROM Production.Product) AS SourceTable
PIVOT

(

AVG(StandardCost)

FOR DaysToManufacture IN ([0], [1], [2], [3], [4])
) AS PivotTable;

Box 2: [CreditLimit]

Box 3: PIVOT

You can use the PIVOT and UNPIVOT relational operators to change a table-valued expression into another table.
PIVOT rotates a table-valued expression by turning the unique values from one column in the expression into multiple

columns in the output, and performs aggregations where they are required on any remaining column values that are
wanted in the final output.

Box4:0,1,2,3,4
The IN clause determines whether a specified value matches any value in a subquery or a list.
Syntax: test_expression [ NOT ] IN ( subquery | expression [,...n])

Where expression[ ,... n ] is a list of expressions to test for a match. All expressions must be of the same type as
test_expression.

References: https://technet.microsoft.com/en-us/library/ms177410(v=sql.105).aspx

QUESTION 11
SIMULATION

You have a database that contains the following tables.



SalesPerson

¥ SalesPersonlid
Personld
TerritorylD

Title
FirstName
MiddleName
LastName
ModifiedDate

SalesQuota

Bonus
SalesYTD

You need to create a query that lists the highest-performing salespersons based on the current year-to-date sales
period. The query must meet the following requirements:

Return the LastName and SalesYTD for the three salespersons with the highest year-to-date sales values.
Exclude salespersons that have no value for TerritoryID.

Construct the query using the following guidelines:

Use the first letter of a table name as the table alias.

Use two-part column names.

Do not surround object names with square brackets.

Do not use implicit joins.

Use only single quotes for literal text.

Use aliases only if required.



ADD EXIT PROC

ALL EXTERNAL PROCEDURE
ALTER FETCH PUBLIC

AND FILE RAISERROR
RNY FILLFACTOR REARD

as FORFOREIGH RERDTEXT
nsC FREETENT RECONFIGURE
AUTHORIZATION FREETEXTTABLE BREFERENCES
BACHUP FROM NEPLICATION
BEGIN FULL RESTORE
BETWEEN FUNCTION RESTRICT
BEEAE COTO BETUEN
BEOWSE GRANT REVERT

BULE GROUP REVOEKE

BY EAVING RIGHT
CASCADE EOLDLOCHE ROLLBACK
CASE IDENTITY ROWCCUNT
CHECHK IDENTITY INSERT  ROWGUIDCOL
CHECEPOINT IDENTITYCOL RULE

CLOSE iF ERVE
CLUSTERED 8 SCHEMR
CORLESCE INDEX SECURITYRUDIT
COLLATE INNER SELECT 9
COLUMN INSERT TABLE
COMMIT INTERSECT ITYDETAILSTAELE
COMPUTE INTO ILARITYTABLE
CONCAT 18

CONSTRAINT JOIN

CONTRINS HEY

CONTAINSTABLE HILL

CONTINUE LEET

CONVERT LIKE g STATISTICS
CREATE LINENG 9 SYSTEM USER
CROSS 0 TABLE
CURRENT TABLESAMPLE
CURRENT DATE AL TEXTSIZE
CURRENT_TIME HECE THEN
CURRENT_TIMES ONCLUSTERED T

CUREKT USE NOT TOP

CURSCR NULL TRAN
DATAEAS NULLIF TRANSARCTION
DBCC oF TRIGGER
DERLLOCATE aFE TRUNCATE
DECLARE CEFFSETS TRY_CONVERT
NEFANLT oN TOEQUAL
DELETE CDEN UNICN

UENK CPENDATASOURCE UNIQUE

DESC CPENQUERY UNPIVOT
DISE OPENROWSET UPDATE
DISTINCT OPENKML UBDATETEXT
DISTRIBUTED R usE

DOUBLE oR NEER

DROP ORDER VALUES

DUMP OUTER VARYING
ELSE GVER VIEW

END PERCENT WAITFOR
ERRLVL rIVoT WHEN

ESCAFE SLAN WHERE
ESGEFT DRECISION WHILE

AR ERIMARY WITH
EXECUTE DRINT WITHIN GROUP

EXISIS WRITETEXT



Part of the correct Transact-SQL has been provided in the answer area below. Enter the code in the answer area that
resolves the problem and meets the stated goals or requirements. You can add code within the code that has been
provided as well as below it.

1 SELECT top 3 lastname,salesYTD 2 FROM Person AS p INNER JOIN SalesPerson AS s 3 ON p.PersonID =
s.SalesPersonID 4 WHERE territoryid is null 5 order by salesytd dsec

Use the Check Syntax button to verify your work. Any syntax or spelling errors will be reported by line and character
position.

Correct Answer: Please see

1 SELECT top 3 lastname,salesYTD

2 FROM Person AS p INNER JOIN SalesPerson AS s
3 ON p.PersonID = s.SalesPersonID

4 WHERE territoryid is not null

5 order by salesytd desc

Note:

On line 4 add a not before null.

On line 5 change dsec to desc.

QUESTION 12

You need to create a database object that meets the following requirements:
accepts a product identified as input

calculates the total quantity of a specific product, including quantity on hand and quantity on order
caches and reuses execution plan

returns a value

can be called from within a SELECT statement

can be used in a JOIN clause What should you create?

A

an extended stored procedure

B.

a user-defined scalar function

C.

a user-defined stored procedure that has an OUTPUT parameter



D.

a temporary table that has a columnstore index

Correct Answer: B

User-defined scalar functions are execution plans that accept parameters, perform an action such as a complex
calculation, and returns the result of that action as a value. The return value can either be a single scalar value or a
result set.

Furthermore the execution plan is cached and reusable.

User-defined scalar functions can also be called from within a SELECT statement and can be used in a JOIN clause.

Incorrect Answers:

A: Using extended stored procedures is not recommended as they has been deprecated. CLR Integration should be
used instead of extended stored procedures.

C: Stored procedures cannot be used in a SELECT statement or in a JOIN clause.
D: A temporary table is a result set and not a value.
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